PITT Qube SU-50V-AAA-1

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/09 15:29:00



PITT Qube

SU-50V-AAA-1

Mg - HE BRI Eff

1 012217101 SU-50V-1 &{K FC20 1 19,400

2 012208301 SE-50 %° ¥7° -2 (KOSHINMI™) ADC12 yaybh |1 7,300

3 011266205 SE-50XIRAT 5> (G-Yavh) ADC+¥ayh 1 1,600
(Gx¥Y7)

4 011266501 SE-50X Frudn' b7° NBR 1 900

5 011807802 20A7 S50 % 2 600|PA-156(4971770-102156)

6 012214301 SU-50V-147A° 3(4KIIHR) FC-200 1 3,100

7 011022408 SU-50H A&= FC-20 1 4,600

8 011055605 SE-50L-10tH 75797 (H-PS-v-49%) 1=0.63 1 3,200
S=0.38 Yavh

9 011054102 SE-50L-1 7oV InNy £V CR70° 1 400

10 011572202 SU-50V J+7b S45C 1 5,300

11 011572301 SU-50V K01k NBR 2 300

12 889955025 oy G25 NBR 2 200

13 011809003 SU-50 V7°-I)-- " b3 30 1 4,500
B24+M8x
12

14 888427052 CHLE A &g N5 2SK |1 300

15 884009071 74— S45C 1 200
7x7x2 8%
2

16 912506016 EIYVESHZ 00%089201 Z12 2,000
AY1

17 011501501 oy 1517-46.5 |1 0
NBR

18 011279201 oYvy" P54 P54 NBR 1 0

19 743119045 MALN FIE T EEE A SAS Vb M8X20 M8x20 3 200
SWRM

20 743119047 MAN I EEEHIASAET Vb M8X25 M8x25 4 200
SWRM

21 743119061 MAN T I EEEHEASAT b M10X25 M10x25 |4 200
SWRM

22 743119043 MALN FIE R EEE A SABRIL ~ M8x16 1 200
SWRM

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/09 15:29:00




PITT Qube SU-50V-AAA-1
No. LR Lk Bt - B B EfM lw%

23 011835001  |SE-50X Ahb-F-93(WVH%) PP+FC+=# |1 3,100

24 940019060  [f-An' YN ¢ 60 ;}5603ﬁﬂiﬁux- 3 300

25 011702603  [SE-50X #v7°Y»9" 53 PA95 ABSHY7° sy |2 1,300|PA-95(4971770-101531)
26 011339002  |SE-50X 475" ABS 2 700

27 011035605 |SE-50 TDF=v 7L ABS 2 400

28 011339101  |SE-50X 47" )75" " 4y NBR 2 300

29 011482502  |SU-50X #h=hby- TYPEG 3/4"%5(1 3,000

Y- 0-57

30 011601401  [SU-50V 7°-Y)-1E&7y9+- ¢ 8.5x31 1 200

31 011579102  |SU-50V-AAA-O%E1R ,(\);I]1H}579'IO42 1 200

32 889955025  [OYy¥” G25 NBR 2 200

00 011580304  (SU-V ¥)-2" EX&R A5 P18 1 500

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/09 15:29:00




